<o @> (rad)

< 00, > (M)

RatioI

<opp >0

o
N
X
=
o
&
(=
N
X
=
o
&

o
[N
[¢)]

< o cot(y) >
o
[N
[¢)]

o
[y
o
Py

o

TIT [T I T [ TI T[T [ TT T[T T T[T rTI[TTT
o
I

|
o
()

|
o
()

0923 a1 0 1 2 3 0923 a1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

_ ) __Global__mkKFitbase ___RECO
M_V0001_R000000001__Global_mkFitCHIN _RECO

DQM_ | _ | |
DQM_V0001-R000000001_Global__mkFitNDOF__ RECO
DOM_V0001_R000000001 _Global _mkFitNDOFZ__RECO

100, T T T T = 100

E f : : g_ E :
801"t i T = 80 1

r 1 a : A E ‘
601"t i I ] 3 60 ik

r I : : ie] r :
4011 iy il v 40 17

E i | % E : :
20:— & ! - 20F Lol

o AEIAREY of

-20F ; : -20F 1 i
-40F -40F :
-60F -60F
-80H] -80F
l@cf....l....l....l||||I||||I|||| -Q_lgofuuuul||||I||||I||||I||||I||||

L % L

i : g

C i i i I C i i i i |
095310 1 2 3 09530 1 2 3

TP n (PCA- to beamline) TP n (PCA- to beamline)

- e A
- I A s
o
_3;_ Lt
»3 .|
o5l b L |

1

3

2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


